SARBIDE GOI MAILAKO ZIKLOAK 2019 KIMIKA


SOLUZIOAK

1) nC (10 mol)>na (4,46 mol)>nb (3.125 mol)

2) a) Z = 19; b) 4 periodoa, 1 taldea; c) +1; d) Ionikoa, K2X

3) a) %6,5; b) 0,2 mol/l; c) X(sakarosa)=0,004; X(ura)= 0,996

4) a) 2 HCl + Zn ZnCl2 + H2; b) 111.6 g; c) 34.25 L

5) a) HNO3 + H2O NO3-  +  H3O+; b) pH = 1.3

6) a)  Ag  +  HNO3 → AgNO3 + NO2 + H2O; b) Oxidatzailea: HNO3, Erreductorea: Ag

7) 

	
	Izena
	Formula

	A
	Kaltzio kloruroa
	CaCl2

	B
	Potasio oxidoa
	K2O

	C
	Magnesio hidroxidoa
	Mg(OH)2

	D
	Nitrogeno(V) oxidoa
	N2O5

	E
	Azido klorhidrikoa
	HCl

	F
	2-metilhexa-1,4-dienoa
	CH2=C(CH3)-CH2-CH=CH-CH3

	G
	Azido azetikoa (etanoikoa)
	CH3-COOH

	H
	Etano-1,2-diola
	CH2OH-CH2OH

	I
	Propanona (azetona)
	CH3-CO-CH3

	J
	Bentzenoa
	[image: ]




[bookmark: _GoBack]
image1.png




